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Figure S1. Consent form.
[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:screenshots:consent.jpg]












Figure S2. Introduction
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Figure S3. Explanation of the DNA tests.
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Figure S4. Base rate and marginal questions. 
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Figure S5. Likelihood questions.
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Figure S6. Posterior questions.
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Table S1. Experiment 1 Presentation Formats
	Format
	Information

	Standard Probability
(ProbLik)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it is a Bayosian turtle is 70%.
If a turtle is a Bayosian, then the probability that it has the D form of the DE gene is 3%.
 If a turtle is a Freqosian, then the probability that it has the D form of the DE gene is 30%.
If a turtle is a Bayosian, then the probability that it has the L form of the LM gene is 41%.
 If a turtle is a Freqosian, then the probability that it has the L form of the LM gene is 93%.

	Probability with Complement
(ProbLik+)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it is a Bayosian turtle is 70%, and the probability that it is a Freqosian turtle is 30%.
If a turtle is a Bayosian, then the probability that it has the D form of the DE gene is 3%, and the probability that it has the E form is 97%.
 If a turtle is a Freqosian, then the probability that it has the D form of the DE gene is 30%, and the probability that it has the E form is 70%.
If a turtle is a Bayosian, then the probability that it has the L form of the LM gene is 41%, and the probability that it has the M form is 59%.
 If a turtle is a Freqosian, then the probability that it has the L form of the LM gene is 93%, and the probability that it has the M form is 7%.

	Posterior Probability
(ProbPost)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it has the D form of the DE gene is 11%. 
The probability that it has the L form of the LM gene is 57%.
If a turtle has the D form of the DE gene, then the probability that it is a Bayosian turtle is 19%.  
If a turtle has the E form of the DE gene, then the probability that it is a Bayosian turtle is 76%.
If a turtle has the L form of the LM gene, then the probability that it is a Bayosian turtle is 51%.  
If a turtle has the M form of the LM gene, then the probability that it is a Bayosian turtle is 95%.

	Posterior Probability with Complement
(ProbPost+)
	Consider a turtle picked at random from the 100 turtles on the island:
The probability that it has the D form of the DE gene is 11%, and the probability that it has the E form is 89%. 
The probability that it has the L form of the LM gene is 57%, and the probability that it has the M form is 43%.
If a turtle has the D form of the DE gene, then the probability that it is a Bayosian turtle is 19%, and the probability that it is a Freqosian turtle is 81%.
 If a turtle has the E form of the DE gene, then the probability that it is a Bayosian turtle is 76%, and the probability that it is a Freqosian turtle is 24%.
If a turtle has the L form of the LM gene, then the probability that it is a Bayosian turtle is 51%, and the probability that it is a Freqosian turtle is 49%.
 If a turtle has the M form of the LM gene, then the probability that it is a Bayosian turtle is 95%, and the probability that it is a Freqosian turtle is 5%.


	Natural Frequency
(FreqLik)
	Out of the 100 turtles on the island, 70 are Bayosian turtles.
 Out of the 70 Bayosian turtles, 2 turtles have the D form of the DE gene.
Out of the 30 Freqosian turtles, 9 turtles have the D form of the DE gene. 
Out of the 70 Bayosian turtles, 29 turtles have the L form of the LM gene.
Out of the 30 Freqosian turtles, 28 turtles have the L form of the LM gene.

	Natural Frequency with Complement
(FreqLik+)
	Out of the 100 turtles on the island, 70 are Bayosian turtles and 30 are Freqosian turtles.
Out of the 70 Bayosian turtles, 2 turtles have the D form of the DE gene, and 68 turtles have the E form of the gene.
Out of the 30 Freqosian turtles, 9 turtles have the D form of the DE gene, and 21 turtles have the E form of the gene.
Out of the 70 Bayosian turtles, 29 turtles have the L form of the LM gene, and 41 turtles have the M form of the gene.
Out of the 30 Freqosian turtles, 28 turtles have the L form of the LM gene, and 2 turtles have the M form of the gene.

	Posterior Frequency
(FreqPost)
	Out of the 100 turtles on the island, 11 have the D form of the DE gene.
Out of the 100 turtles on the island, 57 have the L form of the LM gene.
Out of the 11 turtles with the D form of the DE gene, 2 are Bayosian turtles. 
Out of the 89 turtles with the E form of the DE gene, 68 are Bayosian turtles.
Out of the 57 turtles with the L form of the LM gene, 29 are Bayosian turtles.
Out of the 43 turtles with the M form of the LM gene, 41 are Bayosian turtles.

	Posterior Frequency with Complement
(FreqPost+)
	Out of the 100 turtles on the island, 11 have the D form of the DE gene, and 89 turtles have the E form of the gene.
 Out of the 100 turtles on the island, 57 have the L form of the LM gene, and 43 turtles have the M form of the gene.
Out of the 11 turtles with the D form of the DE gene, 2 are Bayosian turtles and 9 are Freqosian turtles.  
Out of the 89 turtles with the E form of the DE gene, 68 are Bayosian turtles and 21 are Freqosian turtles.
Out of the 57 turtles with the L form of the LM gene, 29 are Bayosian turtles and 28 are Freqosian turtles.
 Out of the 43 turtles with the M form of the LM gene, 41 are Bayosian turtles and 2 are Freqosian turtles.






	Icon Array
(IconLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. Each icon represents 1 out of the total 100 turtles on the island. [image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp2:IconArray.jpg]

	Posterior Icon Array
(IconPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. Each icon represents 1 out of the total 100 turtles on the island.[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp2:PostIconArray.jpg]

	Bar Graph
(BarLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. The length of each bar (relative to the span of the white space on the page) indicates the proportion of the total 100 turtles on the island. [image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp1:PostBarGraph.jpg]

	Posterior Bar Graph
(BarPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. The length of each bar (relative to the span of the white space on the page) indicates the proportion of the total 100 turtles on the island.
[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp2:PostBarGraph.jpg]

	Dot Diagram
(DotLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. Each dot represents 1 out of the total 100 turtles on the island.[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp2:DotDiagram.pdf]


	Posterior Dot Diagram
(DotPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. Each dot represents 1 out of the total 100 turtles on the island.[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp2:PostDotDiagram.pdf]

	Note. The short name for each format is provided in brackets below the full name, where “Lik” denotes the likelihood variations, the “Post” denotes the posterior variation, and “+” denotes the variation including complement information.




Table S2. Experiment 2 Presentation Formats
	Format
	Information

	Standard Probability
(ProbLik)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it is a Bayosian turtle is 70%.
If a turtle is a Bayosian, then the probability that it has the D form of the DE gene is 4%.
 If a turtle is a Freqosian, then the probability that it has the D form of the DE gene is 37%.
If a turtle is a Bayosian, then the probability that it has the L form of the LM gene is 43%.
 If a turtle is a Freqosian, then the probability that it has the L form of the LM gene is 100%.

	Probability with Complement
(ProbLik+)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it is a Bayosian turtle is 70%, and the probability that it is a Freqosian turtle is 30%.
If a turtle is a Bayosian, then the probability that it has the D form of the DE gene is 4%, and the probability that it has the E form is 96%.
 If a turtle is a Freqosian, then the probability that it has the D form of the DE gene is 37%, and the probability that it has the E form is 63%.
If a turtle is a Bayosian, then the probability that it has the L form of the LM gene is 43%, and the probability that it has the M form is 57%.
 If a turtle is a Freqosian, then the probability that it has the L form of the LM gene is 100%, and the probability that it has the M form is 0%.

	Posterior Probability
(ProbPost)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it has the D form of the DE gene is 14%. 
The probability that it has the L form of the LM gene is 60%.
If a turtle has the D form of the DE gene, then the probability that it is a Bayosian turtle is 20%.  
If a turtle has the E form of the DE gene, then the probability that it is a Bayosian turtle is 78%.
If a turtle has the L form of the LM gene, then the probability that it is a Bayosian turtle is 50%.  
If a turtle has the M form of the LM gene, then the probability that it is a Bayosian turtle is 100%.

	Posterior Probability with Complement
(ProbPost+)
	Consider a turtle picked at random from the 100 turtles on the island:
The probability that it has the D form of the DE gene is 14%, and the probability that it has the E form is 86%. 
The probability that it has the L form of the LM gene is 60%, and the probability that it has the M form is 40%.
If a turtle has the D form of the DE gene, then the probability that it is a Bayosian turtle is 20%, and the probability that it is a Freqosian turtle is 80%.
 If a turtle has the E form of the DE gene, then the probability that it is a Bayosian turtle is 78%, and the probability that it is a Freqosian turtle is 22%.
If a turtle has the L form of the LM gene, then the probability that it is a Bayosian turtle is 50%, and the probability that it is a Freqosian turtle is 50%.
 If a turtle has the M form of the LM gene, then the probability that it is a Bayosian turtle is 100%, and the probability that it is a Freqosian turtle is 0%.


	Natural Frequency
(FreqLik)
	Out of the 100 turtles on the island, 70 are Bayosian turtles.
 Out of the 70 Bayosian turtles, 3 turtles have the D form of the DE gene.
Out of the 30 Freqosian turtles, 11 turtles have the D form of the DE gene. 
Out of the 70 Bayosian turtles, 30 turtles have the L form of the LM gene.
Out of the 30 Freqosian turtles, 30 turtles have the L form of the LM gene.

	Natural Frequency with Complement
(FreqLik+)
	Out of the 100 turtles on the island, 70 are Bayosian turtles and 30 are Freqosian turtles.
Out of the 70 Bayosian turtles, 3 turtles have the D form of the DE gene, and 67 turtles have the E form of the gene.
Out of the 30 Freqosian turtles, 11 turtles have the D form of the DE gene, and 19 turtles have the E form of the gene.
Out of the 70 Bayosian turtles, 30 turtles have the L form of the LM gene, and 40 turtles have the M form of the gene.
Out of the 30 Freqosian turtles, 30 turtles have the L form of the LM gene, and 0 turtles have the M form of the gene.

	Posterior Frequency
(FreqPost)
	Out of the 100 turtles on the island, 14 have the D form of the DE gene.
Out of the 100 turtles on the island, 60 have the L form of the LM gene.
Out of the 14 turtles with the D form of the DE gene, 3 are Bayosian turtles. 
Out of the 86 turtles with the E form of the DE gene, 67 are Bayosian turtles.
Out of the 60 turtles with the L form of the LM gene, 30 are Bayosian turtles.
Out of the 40 turtles with the M form of the LM gene, 40 are Bayosian turtles.

	Posterior Frequency with Complement
(FreqPost+)
	Out of the 100 turtles on the island, 14 have the D form of the DE gene, and 86 turtles have the E form of the gene.
 Out of the 100 turtles on the island, 60 have the L form of the LM gene, and 40 turtles have the M form of the gene.
Out of the 14 turtles with the D form of the DE gene, 3 are Bayosian turtles and 11 are Freqosian turtles.  
Out of the 86 turtles with the E form of the DE gene, 67 are Bayosian turtles and 19 are Freqosian turtles.
Out of the 60 turtles with the L form of the LM gene, 30 are Bayosian turtles and 30 are Freqosian turtles.
 Out of the 40 turtles with the M form of the LM gene, 40 are Bayosian turtles and 0 are Freqosian turtles.






	Icon Array
(IconLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. Each icon represents 1 out of the total 100 turtles on the island. [image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp3:IconArray.jpg]

	Posterior Icon Array
(IconPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. Each icon represents 1 out of the total 100 turtles on the island.[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp3:PostIconArray.jpg]

	Bar Graph
(BarLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. The length of each bar (relative to the span of the white space on the page) indicates the proportion of the total 100 turtles on the island. [image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp3:BarGraph.jpg]

	Posterior Bar Graph
(BarPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. The length of each bar (relative to the span of the white space on the page) indicates the proportion of the total 100 turtles on the island.[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp3:PostBarGraph.jpg]


	Dot Diagram
(DotLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. Each dot represents 1 out of the total 100 turtles on the island.
[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp3:DotDiagram.pdf]

	Posterior Dot Diagram
(DotPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. Each dot represents 1 out of the total 100 turtles on the island.[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp3:PostDotDiagram.pdf]

	Note. The short name for each format is provided in brackets below the full name, where “Lik” denotes the likelihood variations, the “Post” denotes the posterior variation, and “+” denotes the variation including complement information.



Table S3. Experiment 3 Presentation Formats
	Format
	Information

	Standard Probability
(ProbLik)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it is a Bayosian turtle is 72%.
If a turtle is a Bayosian, then the probability that it has the D form of the DE gene is 3%.
 If a turtle is a Freqosian, then the probability that it has the D form of the DE gene is 83%.
If a turtle is a Bayosian, then the probability that it has the L form of the LM gene is 39%.
 If a turtle is a Freqosian, then the probability that it has the L form of the LM gene is 100%.

	Probability with Complement
(ProbLik+)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it is a Bayosian turtle is 72%, and the probability that it is a Freqosian turtle is 28%.
If a turtle is a Bayosian, then the probability that it has the D form of the DE gene is 3%, and the probability that it has the E form is 97%.
 If a turtle is a Freqosian, then the probability that it has the D form of the DE gene is 83%, and the probability that it has the E form is 17%.
If a turtle is a Bayosian, then the probability that it has the L form of the LM gene is 39%, and the probability that it has the M form is 61%.
 If a turtle is a Freqosian, then the probability that it has the L form of the LM gene is 100%, and the probability that it has the M form is 0%.

	Posterior Probability
(ProbPost)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it has the D form of the DE gene is 25%. 
The probability that it has the L form of the LM gene is 56%.
If a turtle has the D form of the DE gene, then the probability that it is a Bayosian turtle is 9%.  
If a turtle has the E form of the DE gene, then the probability that it is a Bayosian turtle is 94%.
If a turtle has the L form of the LM gene, then the probability that it is a Bayosian turtle is 50%.  
If a turtle has the M form of the LM gene, then the probability that it is a Bayosian turtle is 100%.

	Posterior Probability with Complement
(ProbPost+)
	Consider a turtle picked at random from the 100 turtles on the island:
The probability that it has the D form of the DE gene is 25%, and the probability that it has the E form is 75%. 
The probability that it has the L form of the LM gene is 56%, and the probability that it has the M form is 44%.
If a turtle has the D form of the DE gene, then the probability that it is a Bayosian turtle is 9%, and the probability that it is a Freqosian turtle is 91%.
 If a turtle has the E form of the DE gene, then the probability that it is a Bayosian turtle is 94%, and the probability that it is a Freqosian turtle is 6%.
If a turtle has the L form of the LM gene, then the probability that it is a Bayosian turtle is 50%, and the probability that it is a Freqosian turtle is 50%.
 If a turtle has the M form of the LM gene, then the probability that it is a Bayosian turtle is 100%, and the probability that it is a Freqosian turtle is 0%.


	Natural Frequency
(FreqLik)
	Out of the 100 turtles on the island, 72 are Bayosian turtles.
 Out of the 72 Bayosian turtles, 2 turtles have the D form of the DE gene.
Out of the 28 Freqosian turtles, 23 turtles have the D form of the DE gene. 
Out of the 72 Bayosian turtles, 28 turtles have the L form of the LM gene.
Out of the 28 Freqosian turtles, 28 turtles have the L form of the LM gene.

	Natural Frequency with Complement
(FreqLik+)
	Out of the 100 turtles on the island, 72 are Bayosian turtles and 28 are Freqosian turtles.
Out of the 72 Bayosian turtles, 2 turtles have the D form of the DE gene, and 70 turtles have the E form of the gene.
Out of the 28 Freqosian turtles, 23 turtles have the D form of the DE gene, and 5 turtles have the E form of the gene.
Out of the 72 Bayosian turtles, 28 turtles have the L form of the LM gene, and 44 turtles have the M form of the gene.
Out of the 28 Freqosian turtles, 28 turtles have the L form of the LM gene, and 0 turtles have the M form of the gene.

	Posterior Frequency
(FreqPost)
	Out of the 100 turtles on the island, 25 have the D form of the DE gene.
Out of the 100 turtles on the island, 56 have the L form of the LM gene.
Out of the 25 turtles with the D form of the DE gene, 2 are Bayosian turtles. 
Out of the 75 turtles with the E form of the DE gene, 70 are Bayosian turtles.
Out of the 56 turtles with the L form of the LM gene, 28 are Bayosian turtles.
Out of the 44 turtles with the M form of the LM gene, 44 are Bayosian turtles.

	Posterior Frequency with Complement
(FreqPost+)
	Out of the 100 turtles on the island, 25 have the D form of the DE gene, and 75 turtles have the E form of the gene.
 Out of the 100 turtles on the island, 56 have the L form of the LM gene, and 44 turtles have the M form of the gene.
Out of the 25 turtles with the D form of the DE gene, 2 are Bayosian turtles and 23 are Freqosian turtles.  
Out of the 75 turtles with the E form of the DE gene, 70 are Bayosian turtles and 5 are Freqosian turtles.
Out of the 56 turtles with the L form of the LM gene, 28 are Bayosian turtles and 28 are Freqosian turtles.
 Out of the 44 turtles with the M form of the LM gene, 44 are Bayosian turtles and 0 are Freqosian turtles.






	Icon Array
(IconLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. Each icon represents 1 out of the total 100 turtles on the island. [image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp4:IconArray.jpg]

	Posterior Icon Array
(IconPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. Each icon represents 1 out of the total 100 turtles on the island.[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp4:PostIconArray.jpg]

	Bar Graph
(BarLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. The length of each bar (relative to the span of the white space on the page) indicates the proportion of the total 100 turtles on the island. [image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp4:BarGraph.jpg]

	Posterior Bar Graph
(BarPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. The length of each bar (relative to the span of the white space on the page) indicates the proportion of the total 100 turtles on the island.[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp4:PostBarGraph.jpg]


	Dot Diagram
(DotLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. Each dot represents 1 out of the total 100 turtles on the island.
[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp4:DotDiagram.pdf]

	Posterior Dot Diagram
(DotPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. Each dot represents 1 out of the total 100 turtles on the island.[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp4:PostDotDiagram.pdf]

	Note. The short name for each format is provided in brackets below the full name, where “Lik” denotes the likelihood variations, the “Post” denotes the posterior variation, and “+” denotes the variation including complement information.



Table S4. Experiment 4 Presentation Formats
	Format
	Information

	Standard Probability
(ProbLik)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it is a Bayosian turtle is 50%.
If a turtle is a Bayosian, then the probability that it has the D form of the DE gene is 10%.
 If a turtle is a Freqosian, then the probability that it has the D form of the DE gene is 80%.
If a turtle is a Bayosian, then the probability that it has the L form of the LM gene is 10%.
 If a turtle is a Freqosian, then the probability that it has the L form of the LM gene is 30%.

	Probability with Complement
(ProbLik+)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it is a Bayosian turtle is 50%, and the probability that it is a Freqosian turtle is 50%.
If a turtle is a Bayosian, then the probability that it has the D form of the DE gene is 10%, and the probability that it has the E form is 90%.
 If a turtle is a Freqosian, then the probability that it has the D form of the DE gene is 80%, and the probability that it has the E form is 20%.
If a turtle is a Bayosian, then the probability that it has the L form of the LM gene is 10%, and the probability that it has the M form is 90%.
 If a turtle is a Freqosian, then the probability that it has the L form of the LM gene is 30%, and the probability that it has the M form is 70%.

	Posterior Probability
(ProbPost)
	Consider a turtle picked at random from the 100 turtles on the island: 
The probability that it has the D form of the DE gene is 45%. 
The probability that it has the L form of the LM gene is 20%.
If a turtle has the D form of the DE gene, then the probability that it is a Bayosian turtle is 11%.  
If a turtle has the E form of the DE gene, then the probability that it is a Bayosian turtle is 82%.
If a turtle has the L form of the LM gene, then the probability that it is a Bayosian turtle is 25%.  
If a turtle has the M form of the LM gene, then the probability that it is a Bayosian turtle is 56%.

	Posterior Probability with Complement
(ProbPost+)
	Consider a turtle picked at random from the 100 turtles on the island:
The probability that it has the D form of the DE gene is 45%, and the probability that it has the E form is 55%. 
The probability that it has the L form of the LM gene is 20%, and the probability that it has the M form is 80%.
If a turtle has the D form of the DE gene, then the probability that it is a Bayosian turtle is 11%, and the probability that it is a Freqosian turtle is 89%.
 If a turtle has the E form of the DE gene, then the probability that it is a Bayosian turtle is 82%, and the probability that it is a Freqosian turtle is 18%.
If a turtle has the L form of the LM gene, then the probability that it is a Bayosian turtle is 25%, and the probability that it is a Freqosian turtle is 75%.
 If a turtle has the M form of the LM gene, then the probability that it is a Bayosian turtle is 56%, and the probability that it is a Freqosian turtle is 44%.


	Natural Frequency
(FreqLik)
	Out of the 100 turtles on the island, 50 are Bayosian turtles.
 Out of the 50 Bayosian turtles, 5 turtles have the D form of the DE gene.
Out of the 50 Freqosian turtles, 40 turtles have the D form of the DE gene. 
Out of the 50 Bayosian turtles, 5 turtles have the L form of the LM gene.
Out of the 50 Freqosian turtles, 15 turtles have the L form of the LM gene.

	Natural Frequency with Complement
(FreqLik+)
	Out of the 100 turtles on the island, 50 are Bayosian turtles and 50 are Freqosian turtles.
Out of the 50 Bayosian turtles, 5 turtles have the D form of the DE gene, and 45 turtles have the E form of the gene.
Out of the 50 Freqosian turtles, 40 turtles have the D form of the DE gene, and 10 turtles have the E form of the gene.
Out of the 50 Bayosian turtles, 5 turtles have the L form of the LM gene, and 45 turtles have the M form of the gene.
Out of the 50 Freqosian turtles, 15 turtles have the L form of the LM gene, and 35 turtles have the M form of the gene.

	Posterior Frequency
(FreqPost)
	Out of the 100 turtles on the island, 45 have the D form of the DE gene.
Out of the 100 turtles on the island, 20 have the L form of the LM gene.
Out of the 45 turtles with the D form of the DE gene, 5 are Bayosian turtles. 
Out of the 55 turtles with the E form of the DE gene, 45 are Bayosian turtles.
Out of the 20 turtles with the L form of the LM gene, 5 are Bayosian turtles.
Out of the 80 turtles with the M form of the LM gene, 45 are Bayosian turtles.

	Posterior Frequency with Complement
(FreqPost+)
	Out of the 100 turtles on the island, 45 have the D form of the DE gene, and 55 turtles have the E form of the gene.
 Out of the 100 turtles on the island, 20 have the L form of the LM gene, and 80 turtles have the M form of the gene.
Out of the 45 turtles with the D form of the DE gene, 5 are Bayosian turtles and 40 are Freqosian turtles.  
Out of the 55 turtles with the E form of the DE gene, 45 are Bayosian turtles and 10 are Freqosian turtles.
Out of the 20 turtles with the L form of the LM gene, 5 are Bayosian turtles and 15 are Freqosian turtles.
 Out of the 80 turtles with the M form of the LM gene, 45 are Bayosian turtles and 35 are Freqosian turtles.






	Icon Array
(IconLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. Each icon represents 1 out of the total 100 turtles on the island.
[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp1:IconArray.jpg]

	Posterior Icon Array
(IconPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. Each icon represents 1 out of the total 100 turtles on the island.
[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp1:PostIconArray.jpg]

	Bar Graph
(BarLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. The length of each bar (relative to the span of the white space on the page) indicates the proportion of the total 100 turtles on the island.
[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp1:BarGraph.jpg]

	Posterior Bar Graph
(BarPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. The length of each bar (relative to the span of the white space on the page) indicates the proportion of the total 100 turtles on the island.
[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp1:PostBarGraph.jpg]

	Dot Diagram
(DotLik)
	Below you see a graphical representation of the distribution of the DE gene and the LM gene in Bayosian and Freqosian turtles. Each dot represents 1 out of the total 100 turtles on the island.
[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp1:DotDiagram.pdf]

	Posterior Dot Diagram
(DotPost)
	Below you see a graphical representation of the distribution of Bayosian and Freqosian turtles for the DE gene and the LM gene. Each dot represents 1 out of the total 100 turtles on the island.[image: Macintosh HD:Users:charleywu:Google Drive:(MEi) Notes and Assignments :Masters thesis:Latex files:images:Appendix:Exp1:PostDotDiagram.pdf]

	Note. The short name for each format is provided in brackets below the full name, where “Lik” denotes the likelihood variations, the “Post” denotes the posterior variation, and “+” denotes the variation including complement information.
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Freqosian and Bayosian Turtles

On a remote island there are exactly two species of turtles: the Freqosian turtle and the Bayosian turtle.

These turtles look very similar. In fact, you cannot tell whether an animal is a Bayosian or a Freqosian turtle by merely
looking at it:

Freqosian turtle Bayosian turtle

4 4

In total, there are exactly 100 turtles on the island. Each animal is either a Bayosian turtle or a Freqosian turtle.

| Continue |
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Freqosian and Bayosian Turtles

While you cannot tell whether an animal is a Bayosian or a Freqosian turtle by merely looking at it, the two species of turtles
differ in their genetic makeup. More specifically, they differ in the form of two specific genes: the LM gene and the DE gene.

Each gene is present in both the Freqosian and the Bayosian turtles. Each gene can take only one out of two possible
forms.

= The LM gene can either take the form L or M.

= The DE gene can either take the form D or E.

Each turtle has one form of the LM gene, and one form of the DE gene. Since the forms of these genes are present to a
varying extent in both kinds of turtle, they can provide some information about whether a turtle is a Bayosian or a Freqosian.

There are two genetic tests available: the LM test and the DE test.

= The LM test determines whether a turtle has the L or the M form of the LM gene.
= The DE test determines whether a turtle has the D or the E form of the DE gene.

D-E Test L-M Test

On the next pages you will find information about the distribution of turtles on the island and the distribution of the possible
forms that the LM and DE gene can have.

If a turtle does not have the D form of the DE gene, then which form of the gene does it have?

Please select: %

Continue





image4.jpeg
What are the chances that a turtle picked at random from the island...

... s a Bayosian or Freqosian turtle, respectively?

Bayosian Turtles: 36%
Freqosian Turtles: 64%

...has the D or E form, respectively, of the DE gene?

D form: 72%
E form: 28%

...has the L or M form, respectively, of the LM gene?

L form: 37%
M form: 63%
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What are the chances that a Bayosian turtle...

...has the D or E form, respectively, of the DE gene?

D form: 75%
E form: 25%

... has the L or M form, respectively, of the LM gene?

L form: 29%
M form: 71%

What are the chances that a Freqosian turtle...

...has the D or E form, respectively, of the DE gene?

D form: 74%
E form: 26%

... has the L or M form, respectively, of the LM gene?

L form: 31%
M form: 69%
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What are the chances that a turtle picked at random which has the D form of the DE gene...

...Is a Bayosian or Freqosian turtle, respectively?

Bayosian Turtles: 67%
Freqosian Turtles: 33%

What are the chances that a turtle picked at random which has the E form of the DE gene...

...Is a Bayosian or Freqosian turtle, respectively?

Bayosian Turtles: 32%
Freqosian Turtles: 68%

What are the chances that a turtle picked at random which has the L form of the LM gene...

...Is a Bayosian or Freqosian turtle, respectively?

Bayosian Turtles: 73%
Freqosian Turtles: 27%

What are the chances that a turtle picked at random which has the M form of the LM gene...

...Is a Bayosian or Freqosian turtle, respectively?

Bayosian Turtles: 36%
Freqosian Turtles: 64%
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Declaration of consent

In the "Information search" study we are examining human decision making. For this purpose, we will present you a brief
information search scenario and ask you to answer some questions. Your data will be stored anonymously.

The Max Planck Institute for Human Development is an institution that promotes scientific research. Our work adheres
strictly to regulations governing protection of privacy. The information requested in the study will be kept confidential and
archived and scientifically processed in accordance with the German Data Privacy Act. Personal data will not be passed on
to any third parties. The data will be used solely for research purposes and solely within the Max Planck Institute for Human
Development or in cooperation with the Max Planck Institute. Personal contact data and experimental data will be stored
separately from each other and handled with utmost discretion.

Participation in the study is voluntary and you are able to end your participation at any time. The study will last
approximately 20 minutes. Please do not use a calculator.

) I have read and accept the terms and conditions listed above and consent to participate in this study

Start study
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